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FIRST SEMESTER B.C.A. DEGREE EXAMINATION, NOVEMBER 2016
(CUCBéSS—UG)
Complementary Course
BCA 1C 01—MATHEMATICAL FOUNDATION OF COMPUTER APPLICATION
Time : Three Hours Maximum : 80 Marks
Part A ‘

Answer call the ten questions.
Each question carries 1 mark.

2 9 1 5
1. If A= and B = find AB.
4 3 7 2

-2 1 2

2. Prove that A =% 2 2 1] is orthogonal.
-2 2 ’

3. Find ay if y=sin™! (JZ)
. X

d

d X

4. If y=e¢" logn, prove that o A y+ e
dx x

2 —
5. Evaluate _[ x—x+1dx.
R x
+1

6. Evaluate j;(x2+x)dx.

d dy 2
7. Write the order and degree of the differential equation ¥ Ey =n (ay) +5.

8. Eliminating the arbitrary constant form a differential equation if y = cx + c2.

Turn over



10.

11,

12.

13.

14.

15.

16.

1.

Solve (D2 -4D + 4) y=0.
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Write the particular integral of the differential equation (D2 -5D+6 ) y=¢e".

Part B

Answer all the five questions.

Each question carries 2 marks.

3 4
Find the invel_'se of A= [1 2:|.

d
Find > if ¥ =+".

1
v 1-x
Evaluate I 1+x
0

d _
Solve &Y _e*-,

dx
d* d?
Solve ﬁ—5ﬁ+4y=o.
Part C
Answer any five questions.
Each question carries 4 marks.
1. 2 3
Find therank of A =|2 4 7 .
3 6 10

1 a b+c
Show that |1 b c+al=0.

il c a+b

(10 x 1 = 10 marks)

(5 x 2 = 10 marks)
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Differentiate from 15t principles y = /x.

3

dy
Ify=\/x+\/x+,/x+...tooo prove that E=2y—1'

Evaluate I (x2 + 3)4 x dx.

2x +1

Evaluate X2

—_dx.
+x+1

Solve (x +y)dx +(y — x)dy =0.

d’y o dy
Solve F+5a;—+6y=e".

(5 x 4 = 20 marks)
Part D

Answer any five questions.
Each question carries 8 marks.

Solve using Gauss elimination method :
Sx+y-2=3; 2x—8y+2z=—5; x—2y+92=8.

Find the eigen values and eigen vectors of :

3 1 -1
1 8 1
i F 45 3

. ﬂ ) 2 .
. (a) Find dx if x° + y° =xy.

dy

: 2
=at”; y=2at.
dxlfx at®; y=2a

(b) Find

. (a) Find the 27 derivative of y= x® log x.

(b) Find the n'? derivative of y = ¢%*,

Turn over



28.

29.

30.

31.

Evaluate :

Ix log x dx.

3x +2
j‘(Jc—l)(2x+3)

Evaluate r J_ \/Zz_x

Yoo,
X

d
Solve Ey +

Solve (D2 —4D+4)y=x2 +e*. .
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(5 x 8 = 40 marks)
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